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	 1-	i;kZokph dh n`f"V ls 'kq¼ oxZ gS%

	 (a)	 Ikfj/ku] mi/ku	

	 (b)	 ok;l] e;wjo

	 (c)	 dqoy;] rkejl	

	 (d)	 niZ] dUniZ

	 2-	lwph&I dks lwph lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa 

ds uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 	 lwph&I	 	 lwph&II

	 	 ('kCn)	 	 (i;kZ;okph 'kCn)

	 A.	 e/q	 1-	 vaxuk] dkUrk] cklk

	 B.	 czkã.k	 2-	 lqokl] lkSjHk] lqjfHk

	 C.	 lqxaf/	 3-	 Hkwlqj] Hkwnso] vxztUek

	 D.	 iRuh	 4-	 Dqlqek'j] ek/o] Írqjkt

	 	dwV%
	 	 A 	 B 	 C 	 D
	 (a)	 1  	 2  	 3 	 4
	 (b)	 2  	 1  	 4 	 3
	 (c)	 4  	 3  	 2 	 1
	 (d)	 3  	 4  	 1 	 2
	 3-		̂vkneh ikuh dk cqycqyk gS* yksdksfDr dk vFkZ D;k 

gS\

	 (a)	 fu.kZ; fdlds i{k esa gksxkA	

	 (b)	 ekSt eLrh dk thouA

	 (c)	 foijhr oLrqvksa dk esyA	

	 (d)	 euq"; thou uk'koku gSA

	 4-	^rcsys dh cyk canj ds flj* yksdksfDr dk vFkZ D;k 

gS\

	 (a)	 nks"kh O;fDr ds lkFk&funksZ"k dk ekjk tkuk

	 (b)	 ft/j tk, m/j gh eqlhcr

	 (c)	 vijk/ djs dksbZ IkdM+k tk, dksbZ

	 (d)	 ifjJe fdlh dk ykHk fdlh vkSj dk

	 5-	orZuh dh n`f"V ls 'kq¼ 'kCn gS%

	 (a)	 egkRE;	 (b)	 ckjkr

	 (c)	 nqjoLFkk	 (d)	 oS';k

	 6-	uhps fn;s x, foykse 'kCnksa dk ,d ;qXe xyr gS] og 

gS%

	 (a)	 ,sfgd&nSfod	 (b)	 mRlkfgr&fu#Rlkg

	 (c)	 ,drk&vusdrk	 (d)	 ,'o;Z&vuS'o;Z

	 7-	fuEufyf[kr esa ls dkSu&lk foykse ;qXe lgh gS\

	 (a)	 ÑrK&tM+	 (b)	 ';ke&Ñ".k

	 (c)	 ladh.kZ&foLrh.kZ	 (d)	 vkgkj&fogkj

	 	fuEufyf[kr x|ka'k dks è;ku ls if<+;s rFkk iz'u la[;k 

8 ls 12 rd ds mÙkj bl x|ka'k ds vk/kj Ikj gh 

nhft;s%

	 	¶lkgl dh f”kanxh lcls cM+h f”kanxh gksrh gSA ,slh 

f”kanxh dh lcls cM+h igpku ;g gS fd ;g fcYdqy 

fuMj] fcYdqy cs[kkSiQ gksrh gSA lkglh euq"; dh igyh 

igpku ;g gS fd og bl ckr dh fpark ugha djrk 

fd rek'kk ns[kus okys yksx mlds ckjs esa D;k lksp jgs 

gSaA tuer dh mis{kk djds thus okyk vkneh nqfu;k 

dh vlyh rkdr gksrk gS vkSj euq";rk dks izdk'k Hkh 

mlh vkneh ls feyrk gSA vM+ksl&iM+ksl dks ns[kdj 

pyuk] ;g lk/kj.k tho dk dke gSA Økafr djus okys 

yksx vius mís'; dh rqyuk u rks iM+kslh ds mís'; ls 

djrs gSa vkSj u gh viuh pky dks iM+kslh dh pky 

ns[kdj ef¼e cukrs gSaA¸

	 8-	lkglh euq"; fdl ckr dh fpark ugha djrk gS\

	 (a)	 yksx mlds ckjs esa D;k lksprs gSaA

	 (b)	 yksx dgk¡ tk jgs gSaA

	 (c)	 yksx D;k dj jgs gSaA	

	 (d)	 yksx D;k [kk&ih jgs gSaA

	 9-	nqfu;k dh vlyh rkdr dkSu gksrk gS\

	 (a)	 tuer ds lkFk pyus okyk vkneh

	 (b)	 tuer ls Mjus okyk vkneh

	 (c)	 tuer dh mis{kk djds thus okyk vkneh

	 (d)	 tuer ls vyx jgus okyk vkneh

	10-	Økafr djus okys yksx fdldh rqyuk vius iM+kslh ls 

ugha djrs\

	 (a)	 vius thou dh	 (b)	 vius /u dh

	 (c)	 vius ?kj dh	 (d)	 vius mís'; dh

	11-	^lk/kj.k* 'kCn dk i;kZ; gS%

	 (a)	 iryk	 (b)	 lkekU;

	 (c)	 gYdk	 (d)	 dfBu

	12-	lkgl dh f”kanxh dh lcls cM+h igpku D;k gS\

	 (a)	 ;g cgqr gh 'kkunkj gksrh gSA

	 (b)	 ;g Mj ls iw.kZ gksrh gSA

	 (c)	 ;g fcYdqy fuMj] fcYdqy cs[kkSiQ gksrh gSA

	 (d)	 ;g fcYdqy lkekU; gksrh gSA

	13-	fuEufyf[kr esa izR;; gS%

	 (a)	 izfrèofu	 (b)	 iwtuh;

	 (c)	 ijkt;	 (d)	 izpkj
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	14-	O;qRifÙk dh n`f"V ls 'kCnksa ds izdkj gSa%

	 (a)	 fodkj] vfodkjh	

	 (b)	 :<+] ;kSfxd] ;ksx:<+

	 (c)	 rn~Hko] rRle] ns'kt	

	 (d)	 vfHk/k] y{k.kk] O;atuk

	15-	fuEufyf[kr nksuksa dFkuksa dks è;kuiwoZd Ik<+dj lgh 

fodYi dk p;u dhft;s%

	 1-	 laca/ dkjd ds lHkh :i fo'ks"k.k ugha gksrs gSaA

	 2-	 ¶fo}ku dk loZ=k vknj gksrk gSA¸

	 	buesa fo'ks"k.k dk iz;ksx laKk ds :i esa gqvk gS%

	 (a)	 1 xyr ij 2 lgh gS	

	 (b)	 1 vkSj 2 nksuksa xyr gSa

	 (c)	 1 lgh Ikj 2 xyr gS	

	 (d)	 1 vkSj 2 nksuksa lgh gSa

	 16-	'kq¼ orZuh okys 'kCnksa dks è;ku esa j[krs gq, lgh fodYi 

dk p;u dhft;s%

	 1-	 v"VkoØ] bdykSrk] lagkj] eu%dkeuk

	 2-	 eueksjk] lEoj.k] vgksjkf=k] Ñr?uh

	 3-	 'osrkafxuh] lU;kl] Jheku] fo|oku

	 4-	 rnqijkar] fu"kkn] izfrPNk;k] uhjl

	 	dwV%

	 (a)	 2 vkSj 3 lgh gSa	

	 (b)	 1 vkSj 4 lgh gSa

	 (c)	 1 vkSj 2 lgh gSa	

	 (d)	 3 vkSj 4 lgh gSa

	 17-	fuEufyf[kr esa ls iQkjlh dk 'kCn gS%

	 (a)	 bap	

	 (b)	 tekbZ

	 (c)	 okuj	

	 (d)	 vkneh

	18-	fuEufyf[kr esa ls dkSu&lk okD; v'kq¼ gS\

	 (a)	 xqykc dh ,d ekyk [kjhn ysukA

	 (b)	 iQwyksa dh ,d lqanj ekyk [kjhn ysukA

	 (c)	 iQwyksa dh ,d ekyk [kjhn ysukA

	 (d)	 ,d xqykc dh ekyk [kjhn ysukA

	19-	^cztHkk"kk* fdl viHkza'k ls fodflr gqbZ gS\

	 (a)	 v/Zekx/h viHkza'k ls	

	 (b)	 iS'kkph viHkza'k ls

	 (c)	 'kkSjlsuh viHkza'k ls	

	 (d)	 ekx/h viHkza'k ls

	20-	fuEufyf[kr esa var%LFk O;atu ugha gS%

	 (a)	 j	 (b)	 o

	 (c)	 y	 (d)	 i
	21-	ftl ewy 'kCn esa fodkj gksus ls ^fØ;k* curh gS] mls 

dgrs gSa%

	 (a)	 fo'ks"k.k	 (b)	 /krq

	 (c)	 loZuke	 (d)	 vO;;
	22-	lwph&I dks lwph lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa 

ds uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 	 lwph&I	 	 lwph&II

	 	 ('kCn)	 	 (vusdkFkhZ 'kCn)

	 A.	 vfy	 1.	 'ks"kukx] cpk gqvk

	 B.	 vkfy	 2.	 Hk¡ojk] dks;y

	 C.	 f'k[kh	 3.	 l[kh] iafDr

	 D.	 'ks"k	 4.	 Ekksj] ioZr
	 	dwV%
		  A 	 B 	 C 	 D
	 (a)	 2  	 3  	 4 	 1
	 (b)	 4	 2	 1	 3
	 (c)	 1	 2	 3	 4
	 (d)	 3	 4	 1	 2
	23-	lwph&I dks lwph lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa 

ds uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 	 lwph&I	 	 lwph&II

	 	 ('kCn)	 	 (laf/&uke)

	 A.	 unh'oj	 1.	 Xkq.k laf/

	 B.	 egksRlo	 2.	 ;.k laf/

	 C.	 erSD;	 3.	 nh?kZ laf/

	 D.	 fi=kkns'k	 4.	 o`f¼ laf/
	 	dwV%
		  A 	 B 	 C 	 D
	 (a)	 4  	 2  	 3 	 1
	 (b)	 1  	 4  	 2 	 3
	 (c)	 3  	 1  	 4 	 2
	 (d)	 2  	 3  	 1 	 4
	24-	^dq'kklu* dk laf/&foPNsn gS%

	 (a)	 dq + 'kklu	 (b)	 dq'k% + vklu

	 (c)	 dq'kk + lu	 (d)	 dq'k + vklu
	25-	fuEufyf[kr esa ls fdl okD; esa lkrR;cks/d fØ;k gS\

	 (a)	 yM+ds csgrj [ksy [ksy jgs gSaA

	 (b)	 og Ldwy ds fy;s fudy pqdk gSA

	 (c)	 i`Foh lw;Z ds pkjksa vksj ?kwerh gSA

	 (d)	 es?kk xhr lqukrh gSA
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	 26.	 Select the correct order of mending the puncture 
in a cycle tube:

	 1.	 Wait for material to dry.
	 2.	 Remove tyre and tube and dip in water to 

check.
	 3.	 Fix the tyre and tube.
	 4.	 Mark the sport and apply puncture mending 

material.
	 (a)	 1, 3, 2, 4	 (b)	 4, 3, 2, 1
	 (c)	 2, 4, 1, 3	 (d)	 2, 3, 1, 4
	 27.	 Fill in the blank with the correct option. 

We_____________ourselves to the circumstances.
	 (a)	 Adept	 (b)	 Adopt
	 (c)	 Adapt	 (d)	 None of the above
		  Read the following passage carefully and answer 

questions number 28 to 32 based on the passage.
		  Leadership studies is an emerging discipline, and 

the concept of leadership will continue to change. 
Leadership lore is defined as an influence among 
leaders and followers who want real change and 
outcomes and their followers. Influence means that 
the relationship amoning people is not passive; 
however, also part of this definition is that influence 
is multidirectional. It does not use orders or threats 
to make somebody do something. Leadership is 
something a leader does to a follower. However, 
leadership has an effect in both directions. In most 
organizations, superiors influence subordinates, 
but subordinates influence superiors as well. The 
people involved in the relationship want real and 
important changes leadership involves creating 
change, not maintaining what normally happens. 
In addition, the changes sought are not dictated by 
leaders, but reflect the Purpose that motivates them 
toward this more preferable outcome. An important 
aspect of leadership is influencing others to come 
together around a common vision. Thus, leadership 
involves the influence of people to bring about 
change towards a desirable future.

	 28.	 What should be the outcome of leadership actions?
	 (a)	 Movement towards the vision of the leader.
	 (b)	 Movement and strengthening of the 

authority of leaders.
	 (c)	 Movement towards common vision of the 

leader and followers.
	 (d)	 Movement towards the vision of the 

majority.
	 29.	 Find the synonym for the word ‘traditions’ in the 

above passage.
	 (a)	 Organization	 (b)	 Relationship
	 (c)	 Leadership	 (d)	 Lore

	 30.	 What is the main theme of this passage?
	 (a)	 Explanation of leadership construct
	 (b)	 Politics of a country
	 (c)	 Discussion about followers
	 (d)	 Future of a country
	 31.	 The concept of leadership discussed in this passage 

is:
	 (a)	 Exceptional	
	 (b)	 Vertical/Top-down
	 (c)	 Horizontal	
	 (d)	 Individualistic
	 32.	 “Leadership studies is an emerging discipline’’ 

means:
	 (a)	 Leadership studies is an established field.
	 (b)	 Leadership studies is an evolving domain 

of scholarship.
	 (c)	 Leadership studies is a valid field of 

research.	
	 (d)	 Leadership studies is an elaborate field.
	 33.	 Find out the synonym for the italicised word given 

in the following sentence.
		  He was filled with remorse for the action.
	 (a)	 revulsion	 (b)	 despair
	 (c)	 repentance	 (d)	 regret
	 34.	 Which of the following is the correct passive form 

of the folloiwng?
	  	“What has cut the tree?”
	 (a)	 By whom has the tree been cut?
	 (b)	 By whom was the tree cut by?
	 (c)	 Who has the tree been cut?
	 (d)	 By whom was the tree cut?
	 35.	 Change into direct form:
		  I said to him, “How do you know this?”
	 (a)	 I asked him that how he knew that.
	 (b)	 I asked him how he knew that.
	 (c)	 I asked him how I knew that.
	 (d)	 I asked him ho I knew that.
	 36.	 Choose the correct option to find out the meaning 

of the idiom given below:
		   “To end in smoke”.
	 (a)	 To have no result; to come to nothing
	 (b)	 To find out the result in the end
	 (c)	 To come to an end
	 (d)	 To find out the smoke
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	 37.	 What is the meaning of the idiom, ‘Blow one’s 
own horn’?

	 (a)	 To be the devil’s advocate
	 (b)	 To announce self defeat
	 (c)	 To boast about oneself
	 (d)	 To suddenly become very angry
	 38.	 Choose the correct antonym of the following word.
		  Gloomy
	 (a)	 Cheerful	 (b)	 Boring
	 (c)	 Straight	 (d)	 None of the above
	 39.	 Select the word which is opposite in meaning of 

the following:
		  Indiscreet
	 (a)	 Honest	 (b)	 Stupid
	 (c)	 Reliable	 (d)	 Prudent
	 40.	 The art of beautiful handwriting is known as:
	 (a)	 Designing	 (b)	 Orthography
	 (c)	 Calligraphy	 (d)	 Stenography
	 41.	 Choose the correct alternative which replaces the 

given statement/sentence:
		  “Anything written in a letter after it is signed”.
	 (a)	 Manuscript	 (b)	 Postdiction
	 (c)	 Postscript	 (d)	 Corrigendum

	 42.	 Which among the following is a correctly spelt 
word?

	 (a)	 Obliterate	
	 (b)	 Obleturate
	 (c)	 Obleterate	
	 (d)	 Obliterait
	 43.	 Fill in the blanks with the correct options. 

“___________” he worked,____________he 
failed.

	 (a)	 Hardly; when	
	 (b)	 Other; than
	 (c)	 No sooner: than	
	 (d)	 Though: yet
	 44.	 Fill in the blank with the correct option. 

___________one of the boys was in the playground.
	 (a)	 Neither	
	 (b)	 Either
	 (c)	 Every	
	 (d)	 All
	 45.	 Find the correct sentence.
	 (a)	 He is rich enough to starve.
	 (b)	 He is too rich and he starve.
	 (c)	 He is too rich to starve.
	 (d)	 He is too rich not to starve.

	46-	ftl izdkj 13 lacaf/r gS 2190 ls] mlh izdkj 14 
lacaf/r gS __________ lsA

	 (a)	 2737	 (b)	 2739

	 (c)	 2736	 (d)	 2738
	47-	,d o`Ùk esa] ;fn f=kT;k nqxquh dj nh tk,] rks {ks=kiQy 

ij D;k izHkko iM+rk gS\

	 (a)	 ;g rhu xquk gks tkrk gS	

	 (b)	 ;g oSlk gh jgrk gS

	 (c)	 ;g nqxquk gks tkrk gS	

	 (d)	 ;g pkj xquk gks tkrk gSA
	48-	fuEufyf[kr vkÑfr esa x vkSj y ds eku gSa%

	

14

9

13

12

y

x

16

11

	 (a)	  x = 18, y = 7	 (b)	 x = 16, y = 9
	 (c)	 x = 7, y = 18	 (d)	 x = 9, y = 16

	 46.	 13 is related to 2190 in the same way as 14 is 
related to:

	 (a)	 2737	 (b)	 2739
	 (c)	 2736	 (d)	 2738
	 47.	 In a circle, if radius is doubled, what happens to 

the area?
	 (a)	 It triples	
	 (b)	 It remains the same
	 (c)	 It doubles	
	 (d)	 It quadruples
	 48.	 The values of x and y in the following diagram 

are:

	

14

9

13

12

y

x

16

11

	 (a)	 x = 18, y = 7	 (b)	 x = 16, y = 9
	 (c)	 x = 7, y = 18	 (d)	 x = 9, y = 16
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	 49.	 The value of which of the following will not change 
if a constant number is added to all the scores of 
a series?

	 (a)	 Median	
	 (b)	 Standard deviation
	 (c)	 Mean	
	 (d)	 Mode
	 50.	 If the side lengths of a square are doubled, then 

how much area will be increased?
	 (a)	 3 times	
	 (b)	 5 times
	 (c)	 2 times	
	 (d)	 4 times
	 51. 	₹196 is distributed in 300 children. If girls gain ₹1 

and 50 paisa, then what is the number of boys?
	 (a)	 210	 (b)	 214
	 (c)	 208	 (d)	 212
	 52.	 x – 4 and 2x – 1 are factors of which of the 

following polynomials?
	 (a)	 2x3 – 7x2 + 5x – 4	

	 (b)	 2x3 – 7x2 – 5x + 4

	 (c)	 2x3 + 7x2 + 5x + 4	

	 (d)	 2x3 + 7x2 – 5x + 4
	 53.	 The factor of expression (x + y)3 + (x – y)3 is:
	 (a)	 3x (x2 + 3y2)	 (b)	 2x (x2 + 3y2)

	 (c)	 3x (x2 – 3y2)	 (d)	 2x (x2 – 3y2)
	 54.	 The work capacity of A is three times more than 

that of B. Both of them together can complete a 
work in 15 days. In how many days will A alone 
complete that work?

	 (a)	 18.75	 (b)	 20
	 (c)	  18	 (d)	 21
	 55. 	The cost price of 40 oranges is equal to the selling 

price of 30 oranges. Find the percentage profit.
	 (a)	 25%	 (b)	 22%
	 (c)	 20%	 (d)	 33.33%
	 56. 	A man covers half of his journey at a speed of 6 

km/hr and the remaining half at a speed of 3 km/
hr. His average speed is:

	 (a)	 3 km/hr	 (b)	 9 km/hr
	 (c)	 4.5 km/hr	  (d)	 4 km/hr
	 57. 	A number when divided by 53 gives 34 as quotient 

and 21 as remainder. Then the 5 number is:
	 (a)	 1800	 (b)	 1924
	 (c)	 1823	  (d)	 1723

	49-	;fn fdlh  Ük`a[kyk ds lHkh vadksa esa ,d fLFkj la[;k 

tksM+ nh tk,] rks fuEufyf[kr esa ls fdlds eku esa 

ifjorZu ugha gksxk\

	 (a)	 ekè;d (eè;kad)	 (b)	 ekud fopyu

	 (c)	 ekè; (eè;eku)	 (d)	 cgqyd

	50-	;fn fdlh oxZ dh Hkqtk,¡ nqxquh dj nh tk,¡] rks {ks=kiQy 

fdruk c<+ tk,xk\

	 (a)	 rhu xquk	 (b)	 ik¡p xquk

	 (c)	 nks xquk	 (d)	 pkj xquk

	51-	₹196 dks 300 cPpksa esa ck¡Vk x;kA ;fn yM+fd;ksa dks 

₹1 vkSj yM+dksa dks 50 iSls feys] rks yM+dksa dh la[;k 

D;k gS\

	 (a)	 210	 (b)	 214

	 (c)	 208	 (d)	 212

	52-	fuEufyf[kr cgqinksa esa ls fdlds xq.ku[kaM x – 4 vkSj 

2x – 1 gSa\

	 (a)	 2x3 – 7x2 + 5x – 4	

	 (b)	 2x3 – 7x2 – 5x + 4

	 (c)	 2x3 + 7x2 + 5x + 4	

	 (d)	 2x3 + 7x2 – 5x + 4
	53-	O;atd (x + y)3 + (x – y)3 dk xq.ku[kaM gS%

	 (a)	 3x (x2 + 3y2)	 (b)	 2x (x2 + 3y2)

	 (c)	 3x (x2 – 3y2)	 (d)	 2x (x2 – 3y2)
	54-	A esa dk;Z djus dh {kerk B ls rhu xquk vf/d gSA 

;s nksukas feydj ,d dk;Z dks 15 fnu esa iwjk dj ldrs 

gSaA A vdsys ml dk;Z dks fdrus fnuksa esa iwjk djsxk\

	 (a)	 18-75	 (b)	 20

	 (c)	 18	 (d)	 21

	55- 	40 larjksa dk Ø; ewY; (CP) 30 larjksa ds foØ; ewY; 

(SP) ds cjkcj gSA yxHkx Ikzfr'kr Kkr dhft;sA
	 (a)	 25%	 (b)	 22%

	 (c)	 20%	 (d)	 33.33%
	56- 	,d vkneh viuh vk/h ;k=kk 6 fdeh-@?kaVk dh pky 

ls vkSj 'ks"k vk/h ;k=kk 3 fdeh-@?kaVk dh pky ls r; 

djrk gSA mldh vkSlr xfr gS%

	 (a)	 3 fdeh-@?kaVk	 (b)	 9 fdeh-@?kaVk

	 (c)	 4.5 fdeh-@?kaVk	  (d)	 4 fdeh-@?kaVk

	57- 	,d la[;k dks 53 ls foHkkftr djus Ikj HkkxiQy 34 

rFkk 'ks"kiQy 21 IkzkIr gksrk gSA rks og la[;k gS%

	 (a)	 1800	 (b)	 1924

	 (c)	 1823	  (d)	 1723
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	58- 	A = {0, 1, 2} ds mileqPp;ksa dh la[;k gksxh%

	 (a) 	7	 (b) 	8
	 (c) 	6	 (d)	  9
	59- 	;fn 10% okf"kZd C;kt dh nj ls 2 o"kZ esa fdlh 

èkujkf'k ds pØo`f¼ C;kt vkSj lk/kj.k C;kt esa varj 
₹12 gS] rks og /ujkf'k Kkr dhft;sA

	 (a) 	₹1200	 (b) 	₹2400
	 (c) 	₹240	  (d) 	 ₹1000
	60- 	lw;kZ 45 dye cspdj 5 dyeksa ds foØ; ewY; ds 

cjkcj gkfu mBkrk gSA mls dqy fdrus izfr'kr gkfu 
gqbZ\

	 (a) 	 11.11%	 (b) 	 10%
	 (c) 	 9%	 (d) 	 12.5%
	61-	n iw.kk±dksa dh la[;k tks – n + 2 ≥ 0 vkSj 2n ≥ 4 dks 

larq"V djrh gS] gS%

	 (a)	 1	 (b)	 4

	 (c)	 0	 (d)	 2
	62-	rhu vadksa dh lcls cM+h vHkkT; la[;k gS%

	 (a)	 998	 (b)	 996

	 (c)	 999	 (d)	 997
	63-	eku yhft;s fd A = {a, b, c, e, f, g }, 
		  B = { b, c, d, f, g, h} rFkk C = { c, d, e, g, h, i}. gS] 

rks [(A – B) – (A – C) – (C – B)], dk eku gS%

	 (a)	 {b}	 (b)	 φ

	 (c)	 {a}	 (d)	 {c}
	64-	 π ds eku dh x.kuk loZizFke fdlus dh Fkh\

	 (a)	 vkfdZehMht	 (b)	 FksYl

	 (c)	 ikbFkkxksjl	 (d)	 vk;ZHkV~V

	65-		x3 – 6x2 + 2x– 4 dks] –3
2

 x + 1, ls Hkkx nsus ij 
'ks"kiQy gS%

	 (a)	 136–
27

	 (b)	 –136

	 (c)	 136
27

	 (d)	 136

	66-	nh xbZ vkÑfr esa x dk eku gS%

	

A

B
45°

55°

30°

C

x

	 (a)	 120º	 (b)	 100º

	 (c)	 130º	 (d)	 110º

	 58. 	The number of subsets of A = {0, 1, 2} will be: 
	 (a) 	 7	 (b) 	 8
	 (c) 	 6	 (d)	  9
	 59. 	If the difference between compound interest and 

simple interest on a sum of money in 2 years at 
10% annual interest rate is ₹12, then find the 
amount.

	 (a) 	 ₹1200	 (b) 	 ₹2400
	 (c) 	 ₹240	  (d) 	 ₹1000
	 60. 	Surya sells 45 pens and suffers a loss equal to the 

selling price of five pens. What is his total loss 
percentage?

	 (a) 	 11.11%	 (b) 	 10%
	 (c) 	 9%	 (d) 	 12.5%
	 61.	 The number of integers n satisfying – n + 2 ≥ 0 

and 2n ≥ 4 is:
	 (a)	 1	 (b)	 4
	 (c)	 0	 (d)	 2
	 62.	 3-digit largest prime number is:
	 (a)	 998	 (b)	 996
	 (c)	 999	 (d)	 997
	 63.	 Let A = {a, b, c, e, f, g } 
		  B = { b, c, d, f, g, h} and C = { c, d, e, g, h, i}. 
		  The value of [( (A – B) – (A – C) – (C – B)] is:
	 (a)	 {b}	 (b)	 φ
	 (c)	 {a}	 (d)	 {c}
	 64.	 Who first calculated the value of π?
	 (a)	 Archimedes	 (b)	 Thales
	 (c)	 Pythagoras	 (d)	 Aryabhatta

	 65.	 By dividing x3 – 6x2 + 2x – 4 by –3
2

 x + 1, the 
remainder is:

	 (a)	
136–
27 	 (b)	 –136

	 (c)	
136
27 	 (d)	 136

	 66.	 The value of x in the given figure is:

A

B
45°

55°

30°

C

x

 	 (a)	 120º	 (b)	 100º
	 (c)	 130º	 (d)	 110º
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	67-	;fn fuEufyf[kr vk¡dM+ksa dk ekè;d 11 gS] rks K dk 
eku Kkr dhft;s%

	 	3, 21, 10, 7, 6, 9, (K + 6), 15, 20

	 (a) 	7	 (b)	 5

	 (c) 	4	 (d) 	6
	68-	;fn CONSTABLE dks 91 ds :i esa dksfMr fd;k 

tkrk gS] rks STABLE dh dksM la[;k D;k gksxh\

	 (a) 	78	 (b) 	75
	 (c) 	97	  (d)	  59
	69-	;fn BELONGINGS dks TABLESTESF ds :i esa 

dksfMr fd;k tkrk gS] rks LINEN dk dksM D;k gksxk\

	 (a) 	BTAEA	 (b) 	TABEA
	 (c)	 BTEAE	  (d) 	 BATEA
	70-	fuEufyf[kr esa ls dkSu&lk vU; rhu ls fHkUu gS\

	 (a) 	es”k	 (b) 	f[kM+dh

	 (c) 	njok”kk	 (d) 	IkQkVd
	71-	tSls ̂ iksLVj* ̂ fnokj* ls lacaf/r gS] oSls gh ̂ iQksVksxzkiQ*] 

fdlls lacaf/r gS\

	 (a) 	lqanjrk (Beauty)	 (b) 	Úse (Frame)
	 (c) 	dSejk (Camera)	 (d) 	yksx (People)
	72-	tc nks O;fDr lkFk esa gksrs gSa] rc muesa ls tks nsg Hkk"kk 

ds lanHkZ esa vf/d fjySDl o 'kkar fn[krk gS _________ 
dk gksrk gSA

	 (a) 	vf/dkj@lÙkk vuqØe esa mPp Lrj

	 (b) 	vk;q esa vf/d

	 (c) 	mPp lkekftd vkfFkZd Lrj

	 (d) 	mi;qZDr lHkh
	73-	________ varoSZ;fDrd lanHkZ }kjk izHkkfor gksrk gSA

	 (a) 	Hkko (Hkafxek) vkSj eqnzk	
	 (b) 	f'k{kk
	 (c) 	Hkk"kk 'kSyh	
	 (d)	 leL;k&lek/ku
	74-	200 O;fDr;ksa esa] 90 yksx pk; ilan djrs gSa tcfd 

108 yksx dkWiQh Iklan djrs gSa vkSj 46 yksx pk; vkSj 
dkWiQh nksuksa ilan djrs gSaA fdrus yksx ,sls gSa tks u rks 
pk; ilan djrs gSa u gh dkWiQh djrs gSa\

	 (a) 	44	 (b) 	46
	 (c) 	48	 (d) 	62
	75-	 0.235   = ?

	 (a) 	 233
990

	 (b) 	 235
1000

	 (c) 	
235
990 	 (d) 	

237
990

	 67.	 If the median of the following data is 11, then find 
the value of K:

		  3, 21, 10, 7, 6, 9, (K + 6), 15, 20
	 (a) 	 7	 (b)	  5
	 (c) 	 4	 (d) 	 6

	 68.	 If CONSTABLE is coded as 91, what will be the 
code number for STABLE?

	 (a) 	 78	 (b) 	 75
	 (c) 	 97	  (d)	  59

	 69.	 If BELONGINGS is coded as TABLESTESF, how 
will you code LINEN?

	 (a) 	 BTAEA	 (b) 	 TABEA
	 (c)	 BTEAE	  (d) 	 BATEA

	 70.	 Which one is different from the other three?
	 (a) 	 Table	 (b) 	 Window
	 (c) 	 Door	 (d) 	 Gate

	 71.	 As ‘poster’ is related to ‘wall’, in the same way 
‘photograph’ is related to:

	 (a) 	 Beauty	 (b) 	 Frame
	 (c) 	 Camera	 (d) 	 People

	 72.	 When two people get together, the one who appears 
more relaxed in body language_________.

	 (a) 	 is higher in power hierarchy
	 (b) 	 is senior in age.
	 (c) 	 belongs to higher socio-economic status
	 (d) 	 All of the above

	 73.	 ________is influenced by inter-personal context.
	 (a) 	 Gesture and posture
	 (b) 	 Education
	 (c) 	 Speech style
	 (d)	 Problem solving

	 74.	 Among 200 persons, 90 people like tea while 108 
people like coffee and 46 people like both tea and 
coffee. How many people like neither tea nor 
coffee?

	 (a) 	 44	 (b) 	 46
	 (c) 	 48	 (d) 	 62

	 75.	 0.235 = ?

	 (a) 	 233
990

	 (b) 	 235
1000

	 (c) 	
235
990 	 (d) 	

237
990
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	76- 	izdkj ^ls de* vkSj izdkj ^ls vf/d* forj.k ds fy;s 
rksj.k oØ ,d&nwljs ij izfrPNsn djrs gSa%

	 (a) 	ekfè;dk ij	 (b) 	ewy&fcanq ij
	 (c)	 vkSlr (eè;eku) ij	(d) 	cgqyd ij
	77- 	;fn fcanq (1, x), (5, 2) vkSj (9, 5) ljs[k gSa] rks x dk 

eku gS%

	 (a) 	
5–
2

	  (b)	 1

	 (c) 	
5
2 	  (d) 	 –1

	78- 	27 lseh3 vk;ru okys 2 ?kuksa dks ,d fljs ls nwljs 
fljs rd tksM+k tkrk gS] rks ifj.kkeh ?kukHk dk i`"Bh; 
{ks=kiQy gS%

	 (a) 	81 lseh2	 (b) 	32 lseh2

	 (c) 	90 lseh2	 (d) 	54 lseh2

	79- 	fuEufyf[kr vkÑfr esa fdrus f=kHkqt gSa\

	 (a) 	10	 (b) 	11
	 (c) 	8	 (d) 	12
	80- 	Js.kh 4, 18, 48, ?, 180 esa yqIr la[;k gS%

	 (a) 	80	 (b) 	100
	 (c) 	60	 (d) 	90

	81- 	;fn x + 
1
x

 = 2, gks] rks 
2

2

2x 2
3x 4x 3

+
+ +  dk eku gksxk%

	 (a) 	 1
2

	  (b) 	
12
3

	 (c) 	
2
5 	  (d) 	

4
11

	82- 	HCF (306, 657) = 9 fn;k gSA
 	 	LCM (306, 657) Kkr dhft;sA

	 (a) 	21331	 (b) 	33228
	 (c) 	22338	 (d) 	22318
	83-	ge@nwljs yksx D;ksa ,d fof'k"V rjhds ls O;ogkj djrs 

gSa] ;g tkuuk ,d ekuoh; izo`fÙk gSA gekjs vkSj nwljksa 
ds O;ogkj ds fooj.k dh izfØ;k _____ dgykrh gSA

	 (a) 	lkekftd leFkZu O;ogkj	
	 (b) 	xq.kkjksi.k
	 (c) 	ijfgrokn	

	 (d) 	foHksnhdj.k

	 76. 	Ogive curves for 'more than' type and less than' 
type distribution intersect at:

	 (a) 	 median	 (b) 	 origin
	 (c) 	 mean	 (d) 	 mode
	 77. 	If the points (1, x), (5,2) and (9, 5) are collinear, 

the value of x is:

	 (a) 	
5–
2

	  (b)	 1

	 (c) 	
5
2 	  (d) 	 –1

	 78. 	2 cubes, each of volume 27cm3, are joined end to 
end, then the surface of the resulting cuboid is:

	 (a) 	 81cm2	 (b) 	 32 cm2

	 (c) 	 90 cm2	 (d) 	 54 cm2

	 79. 	How many triangles are there in the following 
figure?

 	 (a) 	 10	 (b) 	 11
	 (c) 	 8	 (d) 	 12
	 80. 	The missing number in the series is: 
		  4, 18, 48, ?, 180
	 (a) 	 80	 (b) 	 100
	 (c) 	 60	 (d) 	 90

	 81. 	If x + 
1
x

 = 2, then the value of 
2

2

2x 2
3x 4x 3

+
+ +

 will 
be:

	 (a) 	 1
2

	  (b) 	
12
3

	 (c) 	
2
5 	  (d) 	

4
11

	 82. 	Given HCF (306, 657) = 9.
 		  Find the LCM (306, 657).
	 (a) 	 21331	 (b) 	 33228
	 (c) 	 22338	 (d) 	 22318
	 83.	 It is human nature to know why we/others behave 

in a specific way. The process of esplaining our 
own and others' behaviour is________________.

	 (a) 	 Prosocial behaviour	
	 (b) 	 Attribution
	 (c) 	 Altruism	
	 (d) 	 Discrimination
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	84-	yksxksa dh ,d&nwljs dks ilan djus dh izo`fÙk ____ gSA

	 (a) 	iwokZxzg	 (b) 	vkd"kZdrk

	 (c) 	ilan dh ijLijrk	 (d) 	foHksnhdj.k

	85-	fu.kZ; ysus esa dkSu&lk iwokZxzg igyh ckj izkIr tkudkjh 

dks vf/d egÙo nsus dh Ikzo`fÙk dks lanfHkZr djrk gS\

	 (a) 	iq"Vhdj.k iwokZxzg	 (b) 	i'pn`f"V iwokZxzg

	 (c) 	,adfjax iwokZxzg	 (d) 	miyC/rk vuqekuh

	86-	pkj cqfu;knh (ewy) laizs"k.k dkS'ky D;k gSa\

	 1. 	le>	 2. 	lquuk

	 3. 	lwfpr djuk	 4. 	Cksyuk

	 5. 	voyksdu djuk	 6. 	Ik<+uk

	 7. 	izHkkoh	 8. 	fy[kuk
	 	Ukhps fn;s x, dwV ls lgh mÙkj dk p;u dhft;s%

	 (a) 	2,4,6,8	 (b) 	 7,2,5,6

	 (c) 	3,5,2,7	 (d) 	 1,3,7,8
	87-	fuEufyf[kr esa ls fdl izdkj dh Le`fr dh vof/ 

lcls de gksrh gS\

	 (a) 	rkRdkfyd Le`fr	

	 (b) 	izfrekRed Le`fr

	 (c) 	dk;Zdkjh Le`fr	

	 (d)	 izfrèofu Le`fr

	88-	dk;kZRed fLFkjrk (tM+rk) ,d izdkj dh ___________ 
gksrh gSA

	 (a) 	iqf"V iwokZxzg	

	 (b) 	ekufld foU;kl

	 (c) 	vxzlkfjr dk;kZRedrk	

	 (d) 	l`tukRed iwokZxzg

	89- 	euq";ksa ds }kjk vf/drj le; vius rFkk nwljksa ds 

O;ogkj dks fu;af=kr djus ds fy;s ______________ 
iz;qDr gksrs@gksrh gSaA

	 (a)	  'kCn	 (b) 	naM@l”kk

	 (c) 	iqjLdkj	 (d) 	eqnzk,¡
	90-	varoSZ;fDrd lapkj ds mnkgj.k dkSu&dkSu ls gSa\

	 1. 	laxks"Bh	 2. 	Ik=kdkfjrk

	 3. 	dk;kZy;h; lapkyu	 4. 	Ik=k ys[ku

	 5. 	vè;;u&vè;kiu	 6. 	OkkrkZyki

	 7. 	lk{kkRdkj

	 	Ukhps fn;s x, dwV ls lgh mÙkj dk p;u dhft;s%

	 (a) 	 6, 7, 5, 3	 (b) 	 2,  3, 5, 7

	 (c) 	 2, 4, 7, 6	 (d) 	 4, 5, 2, 1

	 84.	 Tendency of people to like each other is ______.
	 (a) 	 Prejudice	
	 (b) 	 Attractiveness
	 (c) 	 Reciprocity of liking	
	 (d) 	 Discrimination
	 85.	 Which decision-making bias refers to the tendency 

to give excessive weight to the first information 
received?

	 (a) 	 Confirmation bias	
	 (b) 	 Hindsight bias
	 (c) 	 Anchoring bias	
	 (d) 	 Availability heuristic
	 86.	 What are the four basic communication skills?
	 1. 	 Understanding	 2. 	 Listening
	 3. 	 Informing	 4. 	 Speaking
	 5. 	 Observing	 6. 	 Reading
	 7. 	 Influencing	 8. 	 Writing
		  Select the correct answer from the codes given 

below:
	 (a) 	 2,4,6,8	 (b) 	 7,2,5,6
	 (c) 	 3,5,2,7	 (d) 	 1,3,7,8
	 87.	 Which of the following type of memory has the 

shortest duration?
	 (a) 	 Immediate memory	
	 (b) 	 Iconic memory
	 (c) 	 Working memory	
	 (d)	 Echoic memory
	 88.	 Functional fixedness is a kind of_____________,
	 (a) 	 Confirmation bias	 (b) 	 Mental set
	 (c) 	 Forward working	 (d) 	 Creativity bias
	 89.	 ____________ is/are used by human beings most 

of the time to control the behaviour of others as 
well as of themselves.

	 (a)	  Words	 (b) 	 Punishment
	 (c) 	 Rewards	 (d) 	 Postures
	 90.	 What are the examples of interpersonal 90 

communication?
	 1. 	 Seminar	 2. 	 Journalism
	 3. 	 Office operation	 4. 	 Letter writing
	 5. 	 Study-Teaching	 6. 	 Conversation
	 7. 	 Interview
		  Select the correct answer from the codes given 

below:
	 (a) 	 6, 7, 5, 3	 (b) 	 2,  3, 5, 7
	 (c) 	 2, 4, 7, 6	 (d) 	 4, 5, 2, 1
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	91-	fuEufyf[kr esa ls dkSu&lk eè;LFkrk lapkj dk mnkgj.k 
gS\ 

	 (a) 	fdlh lekpkj izLrqdÙkkZ }kjk 9 cts dh [kcjksa 
ij ekSle dh fjiksVZ nsuk

	 (b) 	,d jktusrk dk ukekadu lEesyu dks lacksf/r 
djuk

	  (c) 	nks fe=kkas dh vkil esa xi'ki

	 (d)	 Nk=kksa dh fdlh d{kk izkstsDV ij ,d lkFk dke 
djuk 

	92-	,d usrk dh Hkwfedk vko';drk ds rhu pØksa }kjk 
IfjHkkf"kr dh tkrh gS%

	 1. 	dk;Z	 2. 	xfrfof/
	 3. 	u, fopkj	 4. 	lewg
	 5. 	izfØ;k	 6. 	laizs"k.k
	 7. 	O;fDr
	 	Ukhps fn;s x, dwV ls lgh mÙkj dk p;u dhft;s%

	 (a) 	 2, 4, 1	 (b) 	 3, 1, 6
	 (c) 	 7, 5, 3	 (d) 	 1, 4, 7
	93- 	;fn tks yhi o"kZ ugha gS] ml o"kZ 28 IkQjojh dks 

eaxyokj iM+rk gS] rks 28 ekpZ dks ml o"kZ dkSu&lk 
fnu iM+sxk\

	 (a) 	lkseokj	
	 (b) 	eaxyokj
	 (c)	 jfookj	
	 (d) 	mi;qZDr esa ls dksbZ ugha
	94- 	varoSZ;fDrd lapkj dk nwljk uke gS%

	 (a) 	vkeus&lkeus lkoZtfud lapkj

	 (b) 	vkHkklh okLrfodrk

	 (c) 	tulapkj
	 (d) 	Mk;fMd (f}rh;d) lapkj
	95-	fuEufyf[kr ;qXeksa esa ls dkSu&lk ;qXe lgh lqesfyr ugha 

gS\

	 (a) 	FkkWuZMkbd	–	 míhid&vuqfØ;k vuqca/u fl¼kar

	 (b) 	fLduj 	 –	 fØ;kizLkwr vuqca/u fl¼kar

	 (c) 	dksygj 	 –	 varn`Zf"V (lw>) dk fl¼kar

	 (d) 	ikoyo 	 –	 iw.kkZdkjokn (xsLVkYV fl¼kar)
	96-	fuEufyf[kr esa ls dkSu&lh ,d vPNs fu.kZ; dh fo'ks"krk 

gS\

	 (a) 	;g varKkZu ij vk/kfjr gksrk gS

	 (b) 	;g fgr/kjdksa ds fgrksa dh vuns[kh (mis{kk) 
djrk gS

	 (c) 	;g O;ogk;Z vkSj izkI; gS

	 (d) 	;g tYnh ys fy;k tkrk gS

	 91. 	Which of the following is an example of  mediated 
communication? 

	 (a) 	 A newscaster delivers the weather report on 
9 o'clock news

	 (b) 	 A politician addresses a nominating 
convention

	  (c) 	 Two friends gossip with one another
	 (d)	  Students work on a class project together 
	 92. 	The role of a leader is defined by the three g circles 

of need:
	 1. 	 Task	 2. 	 Function
	 3. 	 New ideas	 4. 	 Team
	 5. 	 Process	 6. 	 Communication
	 7. 	 Individual
		  Select the correct answer from the codes given 

below:
	 (a) 	 2, 4, 1	
	 (b) 	 3, 1, 6
	 (c) 	 7, 5, 3	
	 (d) 	 1, 4, 7
	 93. 	If in a non-leap year, it is Tuesday on 28th February, 

then what day will be on 28th March of that year?
	 (a) 	 Monday	
	 (b) 	 Tuesday
	 (c)	  Sunday	
	 (d) 	 None of the above
	 94.  	Another name of interpersonal communication is:
	 (a) 	 Face-to-face public communication
	 (b) 	 Virtual reality
	 (c) 	 Mass communication	
	 (d) 	 Diadic communication
	 95.	 Which one of the following pairs is not correctly 

matched?
	 (a) 	 Thorndike	–	 Stimulus-response bond 
						     theory
	 (b) 	 Skinner 	 –	 Operant conditioning  theory
	 (c) 	 Kohler 	 –	 Insight theory
	 (d) 	 Pavlov 	 –	 Gestalt theory
	 96.	 Which of the following is a characteristic of a good 

decision?
	 (a) 	 It is based on intuition
	 (b) 	 It ignores stakeholders' interest
	 (c) 	 It is feasible and achievable
	 (d) 	 It is made quickly
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	97- 	leL;k&lek/ku dh izfØ;k tgk¡ leL;k dk dsoy ,d 
gh mÙkj gksrk gS%

	 (a) 	vilkjh fparu

	 (b) 	iz;kl ,oa =kqfV

	 (c) 	varn`Zf"V

	 (d) 	vfHklkjh fparu
	98-	fdlh fl¼kar ds vk/kj ij fuEufyf[kr Øe esa foyqIr 

la[;k dks Kkr dhft;s%

10 7 4
3 ? 9
15 18 21

	 	Ukhps fn;s x, dwV ls lgh mÙkj dk p;u dhft;s%

	 (a) 	5	 (b)	 8

	 (c) 	4	 (d) 	6
	99-	7,11, 19, 35, 67 _____________ dh   Ük`a[kyk esa 

vxyk in (la[;k) D;k gksxk\

	 (a) 	121	 (b) 	133

	 (c) 	99	 (d) 	131
100- ____________ dbZ yksxksa dks ,d gh le; esa lkWÝVos;j 

dk mi;ksx djus dh vuqefr nsrk gS rkfd nLrkos”k 
cukus ds fy;s Ifj;kstukvksa dk Vªsd j[k ldsaA 

	 (a) 	xzqios;j	 (b)	 usVodZ

	 (c)	 lkWÝVos;j	 (d)	 bZ&esy

	 97. 	The process of problem solving where the problem 
has only one single answer is.

	 (a) 	 Divergent thinking
	 (b) 	 Trial and error
	 (c) 	 Insight
	 (d) 	 Convergent thinking

	 98.	 Find the missing number in the following 
arrangement based on some principle:

10 7 4
3 ? 9
15 18 21

		  Select the correct answer from the code given 
below:

	 (a) 	 5	 (c) 	 4
	 (b) 	 8	 (d) 	 6

	 99. 	What will be the next item in the series. 7,11, 19, 
35, 67_____________ ?

	 (a) 	 121	 (b) 	 133
	 (c) 	 99	 (d) 	 131

	100. 	______________ allows several people to use 
software at the same time to create documents, 
keep track of projects. 

	 (a)	 Groupware	 (b)	 Network
	 (c)	 Software	 (d)	 E-mail
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